TH6FE —FhHMIEFRE(R6.10.1FRLS) DIEE

(BB FH)
5 AHGERE . .

= A Al BT B tHIE%E FE#ER
fi% = i [£65] 18,178,758 28,090 18,206,848
5 ERBERARENS (EEHE) 2,921,806 2,921,806
5 ERERAREN 25 (REREE) 286,469 286,469
= THXEEEEEERNSE 1,603,482 1,603,482
B NEY—ERBLEEASEH 8 8
ki BHEBEERE RIS 382,192 382192

g -

it 5,193,957 0 5,193,957
“ 5 23,372,715 28,090 23,400,805




(FRAEED

ST6EE —_FHMETFHE R6. 10. IHRLY) OHE
® —BEHMBETE (FE65) (i 1IE%H)
OFLHNE (FH)
FEN)
1 Reiklbiag BB LS (RZEFES) 27, 892
2 REbTE AR EEER SR (RZ=5E4) 98
3 BBk E %&Eéfﬁ%?&ﬁ%éuﬁé (RZ=5E4) 84
4 EGHEE A4 16
&)
1 Wil BRI AE T 28, 090
(i IERTOZE) (HHIE%H) (FHEHED)
18,178, 758 FM 28,090 +M 18, 206, 848 T



